3

o

{d) South-West Monsoon

elec

s:
Cco 1

nly
.%?;"mlan”

With reference to NTPC unit at Singraub,
Which of the following statement/s is/are
Correct ?
It is situated in Northern part of
hattisgarh State. | Wi
It is NTPC’s oldest unit.
Select the correct answer using the codes

8iven below,
. M Only 2

Codes .
(a) Only 1
(d) Neither 1 nor 2

(©) Both 1 ang 2
Among the following countries India’s
trade balance surplus is maximum with
which country in 2019-20 ?

(a) Usa

(b) China-

(c) Japan

_d) Uniteqd Arab Emirates

Which one of the following causes is
résponsible for rainfall during winters
In north-western part of India ?

(a) Retreating Monsoon
(b) clonic depression :
estern disturbances (2 €

Q

How many districts of Uttar. Pragiesh
has been covered under the Aspirational

District Programme run by NITI Aayog,
up to June, 2021 ?

(a) 4 m

(c) 8~J (d) 10%

- ence to the special address
Wil r e India, which of the
?Ofllowing statements is / are correct ?

resident addresses the joint
1. T}gétilfqg of both houses of Parliament
T he commencements of the first
al sion after each general election of
562‘ house of the people and at the
thmmencemer}of the first session
((j(f) eaCh y.cal'. ¥ { A
. president in his address informs
2, T]II(:L parliament of the causes of its
t ons.,
Sutr?;; correct answer using the codes
pelow:

(b) 2 only
(d) Neither 1 nor 2

-2-

SMRN-1 - 21

1L WARH A fGrdeh o v F o 3

mﬁﬁm-m/ﬁmwtli?
1, 78 BefterTe T & I W H R & |
2. AR, F v g R
A R T e @ W I A g

% :

(@) e 1

(c) 1 3R 2 3t

(b) ¥ 2
(d) A 132

- 2019-20 # Fr=rferfga et & ¥ fred wrw &

SR Y iy watfies @ d

(a) g, @, T,
(b) ==
(c) S9TH

(d) FgF 3T IR

= ﬁw%ﬁaﬁ%m-mwm%m-w%q

¥ 3 i g BN el st 3 fore s & 2
(@) AT 6t arae

(b) TshaT IraEE

(c) uferdt faemy

(d) for-wfvem

: ﬁﬁmmmmﬁm&ﬁﬁmm

%awhmm%.ﬁmﬁﬁa’ia%qs, 2021

1. Tt wveren % wmor Prate &
LR HECE
AN | |Hg
) Fafd w R | b

2. Trsgafer 31 i i wye ) 3% s
& w3 fawa § gl o @ |

el I w7, AR T e 6w @
H@ | ©

e
(a) %ae |

(b) ¥t 2
(c) 1.7 2 At

da@m13d2
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8.

A0.

Under the Constitu{i

of the following j {
Duty 2 g ls\qu

of India which
T)a Fundamental

) (})ﬂ’{:zote in General Election

(b) To develop the scientific temper it

(c) To satfeguard public property

(d) To abide by the Constitution and
respect its ideas

At the time of second wave of
COVID-19 Pandemic, which institute had
demonstra_ted the conversion of nitrogen
generator into oxygen generator ?

(a) IISc, Bengaluru %L\

(b) IIT, Bombay _

(c) IIT, Madras -

) 11T, Kanpur*

The name of the foreign journalist who
reported about Satyagraha at Dharsana
salt works was y

(a) Francis Louis (b) Mark Tully

(c) Web Miller (d) Philip Sprat

1 low are two statements, one is
l(e}lgfglrllegeas Assertion (A) and other as
" (R);\ The Council of Ministers

i : The :
il:lsls:(;-itat‘i);l c(olfective}y responsible to both
Lok Sabha and Rajya Sabha.

Reason (R) : Members of b_otih It.,(())lf)gcag)nl}l:
and Rajya Sabha ar¢ eligib eent
Ministers in Union Government.

Select the correct answer using the codes
given below.

Codes :
(a) Both (A) and (R

rect explana

Both (A) and (R) are fruc

not correct cxplana'ti(f)arjsc:3 2
(c) (A) is true, but (R) 1§S e
(d) (A) is false, put (R) 1

i country,
] inister of a T,
g(l)'rellcgelril lr":lad visited twc; ggﬁ 10
trl'gngthening co-Oper
s

. e belongs tow
and 28 in 2021 }n{tries

) are true and (R) is

i f (A) .
tion O but (R) is

Anthony
India for
July 27
hich of

10.

SMRN-1 - 21

et e 3 S AR 8

s FAA TS 7

o gagH
(@) 3T T
(b)mgﬁamaﬁmmm
(c)mafaﬁraﬁﬂtqﬁfﬁﬁtm
(d)gﬁmmmmmmﬁmm

19 6 gatl eTat & T o T
%ﬂﬁ%ﬁaﬁ%w
yegla femam o1 ? :

(a) Tl forgi HUT, SR

(b) 318,381, wrad

(c) 378,378 21., warE

(d) 318,378, FH

39 forcaft v b1 A warsd frea e |
T W HAWE % ar § gurEn fau

(a) R 7 (b) T Zeh

fo) 3% frem (d) fefem wie

19 9 e R, et o = v (A
ﬁ‘@*ﬁm(mww%: @

S (A) : 56 g e 2

=
(©) A) ¥ 3, &ﬁ:‘ ?
47T, g (R) §
» 20
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11.

12.

13.

14.

_-1B.

theory of
Wh iginall ropounded the
thrgeo;:glgr:es gf%ocial development ?

(a) Karl Marx (b) Talcott Parsons
(c) Herbert Spencer (d) Auguste Comte

Which of the following Schemes in Uttar
Pradesh were introduced in Budget of
2021 -227?

I. Atmanirbhar Krishak Samanvit
Vikas Yojna

Mukhya Mantri Saksham Suposhan
Yojna

Mukhya Mantri Pravasi Shramik
Udhyamita Vikas Yojna
IV. Yuva Udhyamita Vikas Abhiyan

Select the correct answer from the codes
given below.

Codes :
(a) 1, IT and III
(c) I, IT and IV

II.

II1.

(b) II, IIl and IV
(d) I, Il and IV

A clove represents to which of the
following ?

(a) Terminal bud (b) Accessory bud
Flower bud (d) Vegetative bud

Which one of the following is NOT a major
coce’ producer country

?
(&) Latvia
(b) Cameroon
(c) Ghana
(d) Ivory Coast

The blood glucose leve] ig commonly
expressed as b
MEM of Hg = ('

(b) Milligram per decilitre

(c) Parts per million Y
(d) Gram per litre

‘Blue baby syndrome’ is due to the
presence of which of the B i the
')]()Ud 7

(a) Haemoglobin

(b) Mrllu:l‘xm;_{luhin-

(e) Lead
@/rﬁn ate

11.

12.

13.

14.

15.

16.

SMRN-1 - 2,

Gt ferehre it fi srareenati w1 frgr e
forer S e o 7 "

(a) Fret Hr (b) e Ty
(c) B T (d) T FIe

frafefiga # & FR-d Fommd 3oy § 5
2021 - 22" Wi A R 7

L. st Fys wafra fsm dem

1. vt wem gamor FisH

1. gt yardt sfrs safiar fammm Do
V. a1 Jafwan fasm srfimm

Hr= fu ™ e @ w9 I 1 7T Fife |
%: ’ .

(a) I, 11 U@ III (b) II, Il W& TV
(c) I, I Td IV (d) I, Il T IV
ain frfafaa # @ feas e 2 2

(a) 3TaE Hefl (b) TES® et

(c) R et (d) S weft

frfaftaa @ @ S -7 v Fiwl 1 vy IaE
A R 7

() STafeET

(b) HHEA

(c) |

(d) el e

T ® WU 1 F ETHIRIGAT Vet
Einii

(a) THUN 3% Hg & &9 o

(b) frefum ufy Sfuferer & wq

(c) rdw ufe fufer= % &g o
(d) am ufy fofer & wg o

wd # fraferfas § 4 Rroed sofeafy & &
o A frgm' g @ o

(a) Ermrreifem

(b) Hredefas

(c)ﬁ's

(d) A3z

»
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17.

18.

19.

20.

21.

22,

23.

(a) Puffballs
ichen

(a) 25 December
Je1/lg‘h September

Which of the following Institution / Offi
bring out the Wholesale Pri n/Office
data in India ? e Price Index (WPI)

i;:}he Reserve Bank of India X

The Ministry of Commerce and
Industry

(c) The Ministry of Finance

(d) The Ministry of Consumer Affairs,
Food and Public Distribution

Botulism is

(a) Food-borne infection

(b) Food-borne intoxication
(c) Water-borne infection
(d) Water-borne intoxication

Ministry of Culture, Government of India
as part of Azadi ka Amrit Mahotsav

celebrated the birth anniversary of

Saheed Ram Prasad Bismil in June,
7021 at which one of the following places

in Uttar Pradesh ?

(@) auri Chaura (b) Shahjahanpur
Rampur (d) Ballia

Which of the following is indicator of air

pollution ?
(b) Algae

(d) Moss

Which of the following pair is NOT

cor. i‘;ﬁlg’e;natched ? i)

(a) Alaska - Koryak

(b) Borneo — Punan

(c) Arab Desert — Ruwala

(d) Sweden and Finland - Lapps
which of the

Riboflavin deficiency causes
following diseases ? )
(a) Pellagra I/ (b) Scux"vy -s
(c) Beri Berl (d) Cheilost

8 celebrated on
(b) 21° April
(d) 30th January

World Ozone Day "i

.5-

173

18.

19

20.

21

22.

23.

(a) rea-Tar & A AT FH
(b) ia-Tere & E e fedem
(c) S-S HAT

(d) Fre-sifa fader

ST FHR % HEP(a HATCH 4 HAATC F ST
TeIcEd % TH 3 $ ¥4 H I, 2021 T wEle

| mmﬁ@aﬁaﬁmmﬁﬁwﬁfﬁaﬂ
# § fopm A W wARR T 7
(a) =M =T (b) TTESTEIT
(c) TR (d) afern
e 3 & -1 ATy wqwT F I E
(a) TFETCH (b) Saret
(c) g (d) @@
e & A Fr-m gm wd gafea 72 7
(a) AR - IS
(b) Sty -
(c) 3T HHeyw . Il

TSRS ) et F § || A
A -

(a)m
(o) X0 ¢ @ St
TR S5 R e e 2
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‘ : e| 24.
. to Mekong river, Whlcctzlto?fth
24. With reference ent/s is/are corre
following statem in Tibetan Plateau
1. Mekong rises in Tibetan ¥
: is situated in
2. Mekong delta is situa
Southern Cambodia. \{- ing the codes
Select the correct answer using
given below.
Codes :
\‘(aﬁe only
(b) 2 only
(¢) Both 1 and 2
(d) Neither 1 nor 2
25. Which one of the following is NOT 25.
correctly matcheq ?
(Proviaions) (Sourceg
(a) hmdamental Rights  _ Usa
(b) Directive Principles of
State Policy - Ireland/
; Residyal Powerg of
Center = Australig
(d) Emergency POowersg =3 Germany
26. The co tof ¢ ) /
vy Ncept of Carhop Credit Originateq 26.
(a) h s 1t, Rig d
“de-Jane;
‘ Kyoto Protocg)] Mgty
() Montre Protocg)
d)G-g it, Heiligend
27. Asg per dia
- 4 €X an,
hich bl i the piyboard | 27
OT a Wing g :
Dcrforrnlign ethe five ga etat'es Wgs
. regardin S In thejr
Country » g In the
(@) G Jarat
A (b)
uu/df, @) Tap, ; ;);ad‘esh
u
T P e v
arlia n Cang of ¢
(@) The first Our g § e *
(b) Whe n pnvnlcge ot Sessign
) Hour befor Uegy On Are Acceptedt
((” I‘h(j ~l]il’!’](: lmmediatoe? hour N
question hour Y y fDlloWing the

SMRN-1‘21

FETHR /T 7
s 8 i gy .
m%m%émmﬁﬁm
(a)éﬁﬁl
(b) s 2
(€) 1 3R 2 3
(d)q?hl‘-[‘g’lg
ﬁ%ﬁam‘m@?{mww
TR 7

(SmaEm) (&)
(a) Mo sferr T
a o
(b)m%mmm_m
(C)%aﬁmﬁmm_ véﬁ
d) ST g - o
'Wm’ﬁmmg

(c) wifae Wroteie
(d)sﬁ-SFﬁ?,%&ﬁ'ﬁ'gq

A s g v o, s%ms?g
WS ¥ 2020-21 %mﬁqﬁ?;qﬁ
B T uw A A, e e

& % 3l i it § w7

(a) TSI (b) 3+ WeW

(c) T (d) afierTg

: ?
VIl Tere o) snrefard) § y1 et 1 o
(a) €= &1 9uw gy LB
(b) Wﬁﬁﬂﬁg(m:\::aﬁﬁﬁ
(c) W Tel & g &1
(d) w9 =1er bt dYep vETd &1 A

1
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30.

9. Which of the following is NOT the eligibility
criterion before filling registration/

application forms for Uttar Pradesh
Mantri Swarojgar Yojna 2021 ?

Age group from 18-40 years

(b) Minimum high school pass certificate

(c) Should not registered in any Central
Government or State Government
Swarojgar Yojna -

(d) Citizen from any State of India

Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A) : Various components of

an ecosystem are not interdependent,*

Reason (R) : Human activities have the

impacts on the environment.

Select the correct answer using the codes

given below.,

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

true, but (R) is false

(A) is false, but (R) is true

31.

32.

33.

Who among the following was NOT an
early member of the ‘Naujawan-Sabha’
formed in 1926 A.D. ?

(a) Bhagat Singh ™ (b) Yaspal

(c) Chhabil Das (d) Ambika Chakravarti

In India the First Municipal Corporation
in which one among the

was set u

following places ?

(a) Calcutta Madras
(c) Bombay (d) Delhi

Which one of the following pairs is NOT

j;;;wﬂy matched ?
Vitamin-A - Orange

- Lemon
— Cod liver oil
-~ Rice bran

(b) Vitamin-C
(c) Vitamin-D
(d) Vitamin-By

34. Largest saline wat‘;ﬂﬁla«kfs in India is

C

Sambhar
(d) Wullar

Chilka
(c) Lonar

{

29, IR TEI HEAHA

30.

31.

32.

33.

34.

*&*-’j

SMRN.; _
it TSR e 2021

21

SRR TR W T P« |

g T 1 AHEIE T R 7 §

(a) g & 18-40

(b) =IFH ¥T§ TR TH T

(c)mwmmmmw
e & e TE € =R

(d)misﬁmﬂ%ﬁvw%?mﬂm

3 2 o Ry Mo &, Bed | & = s
3R g F (R) FE TR

sifvreer (A): TR & % fafy sy
aoq # v gER it T

W1 (R) : AHa BRAa @ S marfi
B

¥ fiy T e § FE IW F T F |

F2:

(a) (A) 3K (R) 2F1 &7 & 3 (R), (4) A
TE =TT Al 8

(b) (A) 3R (R) a1 &= &, fohg (R), (4) F
& =TT TE AT

() (A) ¥4 B, fFg (R) Tea 2

(d) (A) Terd 8, fpeg (R) &3 2

frafafgs # @ 1926 3. § fsq Froam-97

1 IR HEE A T 91 7

(a) ¥ fére (b) FETE

(c) BEfiet g (d) e Shad
e # & forg wam W wra & e TR
wyrfya foham o 7

(a) HeThl b) WEE

(c) sT= :d;fw

et 3 & - g wd Qa2
(a) ferfim-A _ dau

(b) faerftm-c - g

(c) frrféet-p — I Fo F T
(d) ferfim-B, .
R ¥ @R e ) e e @

(c) TR (d) e
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ing A
Which of the folloWin8 2 oiiied to

35

36.

i

38.

\

39,

rticles of

the Indian Constigutlon &
Contingency (b) Articlc 2
(a) Article 265 d) Article 268

(c) Article 267 -
Which one of the following oy :

correctly matched ?
(Name of,local (Places)
winds .
e
(b) Brickfielder - :
(c) Black roller - North'Amenca
(d) Shamal - Austria

Arrange the following foreign travelers
in chr%nological order of their arrival in
India :
I. William Hawkins
II. Ralph Fitch
. Sir Thomas Roe
IV. Nicholas Dawnton

Select the correct answer using the codes

given below.
) WA

Codes :
uaﬁl’:.I,IVand I (b) 1V, 11, T and 11

(c) 1, I, I and IV (d) UL 1L, IV and T

.2/\

With reference to the ‘Uttar Pradesh
Population Contro, Stabilisation
Bill, 2021 Which of the

rate down to 2 |
: iopulation by 2012)er thousands
- At present, the fertil; .
State is 27 per tl'::lll:st};ggte In the
Select the correct Wer usix{
given below. g the codes

;)O/d‘l s
Only 1
(c) Both 1 anq 9+ ) Only g1

(d) Neithey -
The winner of t},

€ Womenp
the French Open 1eneN's single tit1e at
2021, Barborg Krejcﬁlx: i'l‘ OUrnament,
of the fOllOWing coun 8 from which

(a) Czech Rep trieg »

(c) Croatiay, ° (‘3)) gerbia

37.

38.

39.

NIRELEED s
wm@mﬁfﬁémaﬁm%?
(a) T 265 (b) s
36 ﬁw%f@aﬁﬁaﬁq-m@mmwﬁh
T ATH)
(a) A - N
(b) 'aa;'ﬁ;(vgt — ;m‘-é%m
(c) = Tew - I e
(d) v - e
Frafafes faeh ofg = I v
PITHATIER safeys Hifs
I. faferm afe
II. Ue% T
III. X 9f9g O
V. eg e |
ﬁﬁq“ﬁaﬁﬁﬁini
w-

(@ IL I, IVam I (b) Iv, 11, sl
() LU, Ham IV (d) I, I, IV

o, 2021 ¥ gf § FH-@/E 7
8/ ¢ .
1. 39 fauys 1 399 2026 7 7 .

21§%mmﬁiﬁf:§{:
2. gdqH ® Ty § woHd W 2./

Y Ry ™ g @ wh IWH T
o | ey
(c) 13 2gd (@7 €
S s 2 e, 2021 T
fRgare H frsan, T
HARramaR? )

() T TR :d)
(c)aﬁ"’{ﬁm

Scanned with CamScanner



it

40.

41. With reference to ‘NET — ZERO’ goal for

42.

43.

44.

45.

Which of the following Ramsar site is
NOT situated in Uttar Pradesh ?
(a) Sur Sarovar
(b) Samaspur Bird Sanctuaryv :
(c) sali Nawar Jheel
) Surinsar-Mansar Lakes

2050, which of the following statements

is/are correct ?

1. It means that a country will bring
down its emissions to zero by 2050.

2. It means that a country’s emissions
will be compensated by absorption
and removal of green house gases
from the atmosphere.

Select the correct answer using the codes

given below.
b] Only 2

Codes :
(a) Only 1
(d) Neither 1 nor 2

(c) Both 1 and 2

Which of the following is NOT mosquito
borne disease ? "
@

(a) Dengue fever.”

_[e) Sleeping sickness

Who among the following was NOT
associated with the Kanpur Conspiracy
Case of 1924 ?

(a) Muzaffar Ahmed~"(b) Nalini Gupta
(c) Shaukat Usmani (d) M.A. Ansari

Filariasis
Malaria”™

Which one of the following reflects back
more sunlight as compared to other

three ?
(a) Sand Desert

(b) Paddy crop land
d covered with fresh snow
(d) Prairie land

With reference to the ‘Ca o
which of the statements is/are COITeC L
1. Process of capital formation depenas

on savings and effectiveness of
financial institutions. :
2. Investment is the essential factor of
capital formation. ]
Select the correct answer usin

pital formation’

g the codes

iven below.
( Bols (b) Only 2
- Bgtlgl } and 2 (d) Neither 1 nor 2

.9-

40.

41.

42.

43.

44.

45.

-

SMRN- =23

e B & S |1 THER R0 39 iy 3

(a) G TR
(b) FuEqE gEft T

2050 % forg -0’ TET & w5

Frferfiaa @ @ HHA-81/8 FU7 5 2/3 ¢

1. e AnmE 2 6 29 1 2050 T
Segei 1 I d ATe A A

2. sge s & & fFe 2 & ety
%1 afergfel arareR & A4 w@E N6 5
PRTHTT qYT A9 ¥ 8rfl |

19 fou e He & e I H FAA Fifow

(b) & 2

He:
(a) ad 1
(d) Fd 13#2

(c) 1 3 2 2t

Frrferfn & & |1 A R e T 2 7
(a) S (b) STt
(c) Tz T (d) mefe

= 3 | 99 & 1924 F FEY veIT A d
wnfirer i o 7

(@) TR O (b) AR T

(c) Mha SEAA () ww. v, s

Frrfiifas & & @ s it 1 qen & =

o AR st s 2 M

(a) 3 1 W

(b) T it weft hy wfiy

(c) T TH & g wfy

() 3378t ifir (ermaficivnn)

é?gﬁm'*mﬁﬂq-m/ﬁwﬁ

1. 0of o <t s st e faeia
HENS A e v e o 2 |

2, TR0 Fofn 5 fog g e s

T R R ) 3 g

(@) 3w 1
(b) e 2
© 1MW (g 172

L ———— R N e
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50. Nobi and Kanto plains are located in

which of the following countries ?
(a) North Korea (b) South Korea~
(c) Japan (d) China

1. In which year the book ‘Po
/5 Unbritish Rule in India’ was pl:belri;%e%n;l
(@) 1900 A.D. (b) 1901 A.D.

A€) 1902 A.D. (d) 1903 A.D.

52. With reference to Socotra Island, which of
the following statement/s is/are correct ?

1. It is an Island of Oman, situated j
the Arabian Sea. AHEE

2. It was designated as a world natural
heritage site by UNESCO in 2008.

Select the correct answer using the codes
given below.

Codes :
(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

53. The ‘Saras Ajeevika Mela — 2021’ was
organised in which of the following city ?

(b) Raipur
Noida

(a) Patna
(c) Lucknow

54. In which one of the following cities
country’s first Indian Institute of Skills
wag established ?

) Ahmedabad
(c) Rohtak

(b) Mumbai
(d) Kanpur

55. Which one of the following is NOT
correctly matched ?

(Subject)

Me separation of

judiciary from executive
(b) The promotion of
educational and
economic interests
of Scheduled Castes
and Scheduled Tribes
(c) The promotion of
Co-operative Societies
(d) The organisation of
Village Panchayats
and enable them to
function as the units
of self government

(Related
Articles)
— Article 50

_ Article 46

_ Article 43A

_ Article 40

-11-

50.

S1.

52.

o3.

4.

55.

 — R

S

SMRN-] _ 21

| e AT (b) 2fm Frfey
ii;anm (d) =
fopg ad ST BF 7
(a) 1900 3. (b) 1901 3.
(c) 1902 3. (d) 19033,
S 2 % wed # FrefefEd 3 8 #-a)2
Foaadi 2/2 7 %,
1. 7@ S T &9 & ST 37 FC ferq 2
2. T8 2008 & FAEH! ZI fova wrHfoe faoma
ot % ®9 | A1fue foman o |

9 Ru e e & Fel I I |

%2 :

(a) Fad 1 (b) Fad 2

(c) 1 ¥ 2 T (d) T 12

T FrSHfeenT Bel — 20217 1 HATA

freaferfiaa & @ forg s 7 fopan o1 7

(a) g1 (b) TEYL

(c) &S (d) AU

frfoften st 4 @ fom ws d 2w 1 ww

R e g eenfa faran man 7

(a) &M (b) geard P

(c) Tga (d) FAT

ﬁ#&aﬁéﬁ-wmaﬁgﬁmwﬁ%?
() (vreafeera

HIB2)
(a) =fer a wrffera - sreRe 50
YR
(b) ¥t snfit on - 37T 46

TG St
a’t&iﬁquﬁaﬁ

fo 1 srfgf
(c) HEshTY B
oy S

(d) T Terrreft oy aray R
e
sl 9 H 1 ey

Fgeee 43A
313—@'& 40

-
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63. Which one of the following is NOT

correctly matched ?
(Name of Player)

(a) B. V. Sindhu -
_{B) Bajrang Punia -

' (c) Mirabai Chanu -
(d) Neeraj Chopra

(Medal Won in
Tokyo Olympic
2020)

Bronze Medal
Silver Medal
Silver Medal o~
Gold Medal

64. Who among the following Director

won the Oscar Award for the best
motion picture in 2021 for the i
“Nomadland” ? i

Chloe Zhao
(b) Emerald Fennel
(c) Lee Issac Chung
(d) Thomas Vinterberg

65. Which of the following is the largest

lagoon lake situated on the east coast

of India ?
(a) Pulicat Mhﬂka
(c) Kulleruv. (d) Kilivali Y-

66. Site of gaseous exchange in lungs is

67. ‘Statue of Peace’ is situated in w

68. Which of the following part

69. Which one of the follo

C

(a) Tracheoles (b) Bronchioles

(c) Pulmonary vein (d) Alveoli
hich
State of India ?
(a) Madhya Pradesh
u Majasthan
(c) Gujarat
(d) Himachal Pradesh

icles has zero

charge ? .
(a) Positron v{/l{ Neutrino
(c) Electron (d) o-particle

wing pairs is NOT

correctly matched ?

(Tirthankar) (Nirvan Place)

(a) Rishabhanath — Ashtapad
(b) Vasupujya _ sammedashikhar
(c) Neminath - Urjayant.aV

- Pavapurl

(d) Mahavira

.13-

63.

64.

65.

66.

67.

68.

69.

SMRN-l - 21

3 & - qE G T 2 5

( 2020 ¥ fafym
- W)
(@) T, SRR T T
(b) ETT R
(c) Hrramg =T o $qﬁ
(d) et =T 2 "
zozlﬁaﬁWmﬁtﬁtaWﬁmﬁmm

e e el Foen A’ 7 Fréa
Rrferfiga 3 @ foet o o1 7

(a)’('@’fq'fmﬂ}T

(b) THTEE HAA

(c) & 39T I

(d) aT|

FrferRad 1 @ 9 & gt ae T ferd e )

A e FA-H R 7

(a) FefiFe (b) feres

(c) Fei® (d) ferefiaet

el # e Rt 1 e 2

(a) ZfereR (b) Hifewdred

(c) Tomd el (d) rfoeae

= 31 T’ WRa 3 fohg T A sEfer R 7

(a) A WG

(b) TSTEAT

(c) ST

(d) TEmmeret wew

ﬁn%nﬁaaﬁaﬁmmmqp g & 7

(a}“mi'ﬂ (b) qﬁ:ﬁ

) (d) st

foferfaa

wff(% ? A8 B g e e
diefer)

((t?;w . (Frator ¥re)

(c) AfiFy 3 m““\‘aﬁ'@‘

(d) weTefit ~

..
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77. Atwhich place did Raja Ranjit Singh set

78.

79

80.

81.

82,

83,

up the Adalat-i-Ala ?

(a) Amritsar (b) Lahore

(c) Firozpur (d) Multan

Consider the formation of following States
and arrange these in chronological order !

I. Goa " II. Telangana
III. Jharkhand IV. Haryana

Select the correct answer from the codes
given below. '

Codes : O
@1, I, 1, IV M L, 1L, 1
©IL, I, IV, I ~(d) IV, I, T 1I

India climate change knowledge portal’
was launched in which of the following
months of 2020 ?

4# November, 2020

(b) December, 2020

(c) September, 2020 X

(d) October, 2020 *

Which among the following districts of
Uttar Pradesh is smallest in terms of
area ?

Vmirpur
Hathras

Diffusion of light in the atmosphere takes

place due to

(a) Carbon dioxide \Must particles
(c) Helium (d) Water vapours

Which of the following countries is NOT

located on the bank of the Black Sea ?
Syria (b) Turkey

(c) Georgia (d) Bulgaria

With reference to the radioactivity,

which of the following statements is/are

correct ?

1. Radioactivity is a nuclear property.

2. Hydrogen bomb is prepared on the
principle of nuclear fission.

Select the correct answer using the codes

given below.

(b) Hardoi ¥
(d) Hapur

Codes :
(@) Qmty 1 (b) Only 2
Both 1 and 2 (d) Neither 1 nor 2

-15-

T

78.

79.

80.

81.

82.

83.

SMRN-I S 21

# wyrgn 1 7
(b) TATER
) % e W o
[, [, ¥
111, @S Iv. gRam
;ﬁ%ﬁqm¥ﬂMﬁmWﬂW'ﬁﬁq |

He
(@) 1, 1, 1II, IV (b) IV, I, III, 1I
©m, Iy T (@ 1V, 1L 1, 11

‘foea Femgie o9t AT Ared H I

0020 % frefefaa # & foea afed o foa
T o7 ?

(a) T, 2020 F

(b) fewmar, 2020 ®

(c) e, 2020 #

(d) 3TFEER, 2020 &

I wew &1 f=fefed § @ s-a1 e dawa
FRITA BRI 7

(a) TR (b) T

(@) TSt (b) e

(c) Vit (d) Wt aTY

(c) STTffay (b) et

(d) et
Weatufifar 3
T‘W#uﬁ?ﬁimmﬁﬁ
R ey
:ﬁ;;:‘mg, Rram w amegiom aw
g 'mwﬁwﬂwaﬂtmm
L T4
(a) %ae |
CRELP (b) ¥t o

(d) qﬁl:{ﬁg
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SMRN-I - 21

List — I with List — II and select | 90 gt -1 :
¥ d= AL ?ﬁﬁvm|

; t answer using the codes gi
the lists. - given

dst - 1 List - II
: re) (Location)

g . Uttarakhand
. Meghalaya
. Madhya Pradesh
. Odisha

A
J_.
following is NOT correctly | 91. '
Waterfall — Subarnarekha

: River |
2i Waterfall - Bihad River

e

Ghagh - Kanchi River
- i

of the following vitamins is
+ normal vision

(b) Riboflavin
Retinol
— 11 and 86_1661: | 93.

ith List d ,
s :tlllsing the codes given

-’: 1"
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he theme of World Youth Skills

People and Skills
Development and
loyment

Pe?ple and Entrepreneurship
agit o Youth Skills Post

exts of Indian history, which of
o statement/s is/are correct
:Vaxkom Satyagraha ?
satyagraha againsts
ability and caste

a_tlon
a Gandhi participated in
yagraha.
rrect answer using the codes

(b) 2 only

' and 2 (d) Neither 1 nor 2

ne of the following is NOT
matched ?

ler) (State)

L‘Il,j& ami — Mewar

na Chunda - Marwar

Raja Farooqi — Khandesh
- Malwa

k Sarwar
waja Jahan

e inflation refers to the change
! of all goods on the basket. On
is is the headline inflation
d ?
sale Price Index

er Price Index for Industrial

71 » o 4
‘- ined Consumer price Index
Consumer Price Index

gtate has the

h o( the followin ¢ the

ity of popu ation as per
2011 i d
R -hal Pradesh

nacheé Pradcsh

103. 20114

o AR TAE F ey
0 ° - 'm/aﬂ'tﬁ'%/‘g 2

] }—
R
I e s
. g
e -;rﬁﬁf
i A b 0
: |—‘...’='£3
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of the following is NOT an
f rural community ? -

ing -(b) Cultural diversity

7 (d) Self-sufficiency

ewable source of energy is

A qu‘)ﬁatroleum

(d) Biogas

awaid ul Fawad’ is the
conversations of Shaikh
Auliya, it was compiled by
an Sizzi

to the electric potential,
llowing statements is/are

ala quanu:ty.
ctor quantity.
ect answer using the codes

[ 1 C

Only 2
d2 (d) Neither 1 nor 2

he following books written

reate Amartya Sen and

n July, 2021 ?

hent and Freedom

mentative Indian

he World

a of Justice

the following rivers is NOT
jan Ganga river basin ?

(b) Ajoy river’
,J.an/Jtl)nk river

-21'

109.

111.

112.

114.

SMRN-1 - 2,

1 T 1
108. {1 AT §E<E F1 e

110. “Famgd F: ‘ o1 G R o

118! - 9 g fafad

n "~ Scanned with CamScanner

|



Scanned with CamScanner



¥

‘. :Assertion (A) and other as
2 (A) : The President of Indja

nes the qualificatio
Members of th?smiiﬁlé:

‘ *Chalrman and mem
ed by the President of 'In'?ﬁf o

oW are two statements one is

e correct answer using the codes

A) and (R) are true and (R) is
ct explanation of (A)

A) gnd (R) are true, but (R) is
yrrect explanation of (A)

ue, but (R) is false

alse, but (R) is true

-adesh Swami Vivekanand
aryatan Yatra Yojna 2021’ was
i by the U.P. Government for
e following people for religious

| (b) Women
S (d) Labourers

e facts given below :
Sen wgals the first Chief
Ce issioner of India.
vi was the first womar
Commissioner 0

correct answer from the

ect

orrect
4 2 are correct

the following y©

(Protection) Act P&

it of India ?

| 1986

~ (d) 1992

the ng are

. olxl-:zion‘al research
©, u ?

d gz’k‘lz;n Gangotri

ars, the
ssed by

123.

..
‘ and Maitri
. -23-

1215

122.

India’s 124, ¥

(o) et
() e
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lg n;‘: Delenu .‘
Health, te
C “Mwwﬂﬁu Minister

[ P
' is related to | 125. :
125. The symbol BCOMARC R s <) T
which of the following () Fateg 4 ;
(a) Goods of best q¢ A = TS
for environmen (b) Tt 3 fog
(b) Safe goods Pt 0% wrmp &
(d) Imported goods . (d) smrnfam wmnf 3
126. Which among the ﬁ“@%&@a 126. P & & 9z afgy o,
majlgr fz::?)(??i)f %ﬂg@a‘; 4 FF AH R 7 M i
n T T :
() A t:chml?y. : (la)t) S 1 H S i g
Change in population g (b) SHEET flﬂﬁa?h‘
(c) Division of labour in specialised activities (c) Forrfiegar fofamatt /it &
(d) Technocrats and Bureaucrats (d) Hﬁﬁ'&?ﬁq Td e
127. Who among the following person said | 127. fisfifiaq & AT 3t
for the fm:gdamcntal lg;;%s “a pledge to RN o qif?%:% A g,?: E
our people and a pact with the civilized ) 18 o 3
world” ? E T "HEaT e a7 7
(@) Pt. Jawahar Lal Nehru () 9fvEd STaTER T Yew
(b) Dr. Bhim Rao Ambedkar¥- (b) ST, ¥fimtra sm=rEa
(c) Dr. Rajendra Prasad (c) EF. TSz s
(d) Dr. S, Radha Krishnan (d) BT, T, TuTFwH

128. Accordin 0 ‘Global Peace Index, 2021, | 128, -3 wife g, 2021 % sem =

which of the followin
peaceful region in the wg}l:is ?the i
(@) Africa = ) Brope

(c) Australia Lﬂf}é:;:h America

% | v =1 wad wifvgd &3 S=-w b
(a) 3TshreT (b) T
(c) HTefern (d) aféor ST

129. With ref . : o
which of the. ?:nt:wiﬂfgsﬂtavahana Rulers | 129. Hrdares wmaei gy # frefeifes 7
true

Statement /s is /are

bli '
of the

more ; ot

Sataven agement dugng the
Select the Tlod,
given beloy, answer
Codes w Ing the codes
(a) Only 1

130. The Natig .
irf)w{?f?"u‘!'nlndp"*“ter M
disaster lg;'try of § ivision

) a Om i

Digastes Y ChfmEt: Who' ta- (jvs
he Pripm \cMent Xu&i National

(b) The Home “m ty ?

-24-

the nc’&t'la ement | 130. Wi # 3m9g1 Y&Hd % B faella ? )

H-H1/8 o T B/ 7

i few mo ET & A .
He: -
(a) ae (b) 13 ,1 *j, :
ks (d)?i?fl[.\]i
ferg (16{[21 HI9e \\\

Rl

i | .
%ﬁmg?qu Q; g A
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,_. s u}tevs asl the first wOrr?al}{%iréi?Ia 131. w&Ed 2021 ] 7
of World Trade Organisatioff g S

i to which of the follow; g T B 13

a7
(b) South Africa .

(d) Ethiopia 52; FHfr

| List — I with List - II ang select | 132. g -1 kS
;  th :xgss.wcr using the codes given % A= e
ist - I List - II

te of India)  (Highest Peak)

il Nadu 1. Dhupgarh Peak

sthe \2 Saramati Peak

aland . Gurushikhar

‘ Peak
wa Pradesh 4. Dodda Betta
A Peak

 are two statements, one is
e rtion (A) and other as

required b
_tamins are €856
ect answer using thee
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NOT)be | 136. frrfirfn &2 .-

| mmmmmmm
(@) FTURYT fydrye

| (b) WY Feiters Ry

(c) T g fardras

(d) ¥ Ryt

e thes ;j IST'WWWWWW;@W
| 7 saftd Hifvw .

| I.ﬁmﬁm

I1. AR 9Tt a1

II1. 24 3 wfeum dwnyT srfyfias

IV, 42 sf gfqym duium arfufiag

= fow e & vt 3w &1 v |

E T

(a) I, IIL, II, TV (b) I IL UL IV
(c) L, I, II, IV (d) 1, I, IV, I

d | 138, Frae wifer g, 2020 freirfen # 8 F

e w1 e fowan T @ 7
(a)ﬁ?ﬂmaﬂ?fﬂ

(b) g T Fad
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ven b
%g&ucd

141,

142 Which one of the foll

143 'miu

elow arc two statements '
: , on
as Assertion (A) and othcha]:
geaso” (R) : :
on (A) : Teesta river was earlier a
y"'tj of Ganga now it is a tributary

aputra.
n(R): River capturing is a major
re of Himalayan rivers.
the correct answer using the codes

pelow.

featd
select
given

codes *

@) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

A) is true, but (R) is false

(0 {
(A) is false, but (R) is true

The primary duty of the Finance

Comaiission of India is
o give the recommendations on

distribution of tax revenue between
the Union and States

(b) To prepare tne Union Annual
Budget

(¢) To advise the Pre
matters

(d) To allocate funds to various
Ministries / Departments of the
Union and State Governments

owing Acts of

British India strengthened the Viceroy'’s
authority over his " xecutive council by
Substituting ‘portfolio’ oT ‘departmcntal’
System for corporate functioning ?

(&) Indian Council Act, 1861 *

mzl:ment of India Act, 18

m‘] dian Council Act, 1892
1“‘.1'8-!1 B ncil Act, 1909

sident on financial

58"

Wstored in a cold chamber exhibit
) E*;ot:rage life, because .
) Xposure to sunlight is prCVented Y
mﬂtration of CO,in cnvironment
eased Y
(d) The °f respiration is decreaf.-‘,e,d
Te is an increase in humidity

140, 13 2 o RTTL &

141.

142.

143.

27-

SMRN-1 - 21

mﬁﬁqmﬁaﬁﬁmm)
e v (R) T
Nﬁﬁ?m(}\):ﬁlw
off STeahel 98 HE9A
&I (R) il
g T R |

3 fag Mg 2 ¥

Fe: '
(a) (A) 3 (R) i wen & A (R);

ST Hl
(b) ) ot (R) v e & () LA
ge ATl T ¢
() () @ &, T (R) erd
d) (A) e 8, fd (R) @

mmmmmaﬁw%

(c)nt'{qﬁfﬁﬁiﬁﬂwm?ﬁﬂtmém

(d)#aanaamﬁ%:ﬁﬁﬁtiamvﬁ/ﬁwﬁ
¥ foo faftgt =1 fafaam s

ﬁﬁmsﬁm%mﬁﬁmaﬁﬁwﬁ
mqﬁﬁmﬁam%:wnwt‘ﬁwm'm‘ﬁwﬂu'
Tgfd g AR I HEHE aREg W IS
(a) i v S, 1861
(b)‘mﬁmaﬁhﬁm, 1858
(C)WWW, 1892

(d) ¥t afewg stfufem, 1909

ofid TS | e WERoT :
it A sigR ffe < E,
(a) G % TR 1w
(b)amratwﬁmCO‘:i;:m!

(c) VA H W

(d) SNTEAT T g

e R R RS s e
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pradesh Government d

- Pr eclared i
2021-22 to provide tableetdftl)r;
t under which of the following

sef Minister Abhyudaya Yojna "
ef Minister Rozgar Yojna*

ef Minister Balseva Yojna

.f Minister Education Yojna

— | with List - II and select
ect answer using the codes given

List - II
(Representation in
Rajya Sabha)
1. 10 seats
2. 7 seats
3. 11 seats
4. 12 seats
B € D
TR
;. ¢ L
e 3 4N
e 3 1 %) A~

] ce to ‘birth rate’which of the
is/are correct ?

ption nelps in reducing

and 2 (d) Neither 1 nor 2

e Caribbean Sea ?
¢ (b) Montserr!

s is NOT 150. FEffe




